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¥ % Calculate the distance of closest agproach for 2 head-on

i collision berween 2 5.30 MeV alpha parti the nucleus of a
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2%, A penny has a mass of 3.0 g. Calculare the nuclear energy thae
o #F12 . _ would be required 10 separate all te neumons and protous in tis
/é com from one another, For smplicity assume that te peamy i
P)Dg made entirely of SCu atoms {of m2ss 62929 60 u). The masses of

k the proton and the newtron are 1007 83 u and 1008 67 u. respoc-

tively.
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3IE. A radioaciive isotope of mercury. 1% Ha. decays into zold,

23] 197 Au, with a disintegration constant of 0.0108 h~". (a) Calcutate
— its half-life. What fraction of a sample will remain at the end of
/5)097 (b) three half-lives and () 10.0 days? ssm
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= 00755 MeV

Sl = (8198 #0075 5 )MV = 4,27 MeV

848, A particular rock is thought (o be 260 million vears old. If it

£ contin 3.70 me of U, how much 5P should i cantain? Sec
/b;;;; Exercise 63
Frovwe  exercena 43, at Gt Fhi }r%%; Ao
23 266

£ U —_— Pl g vadees decay Prezhuet

Ty, = 4 kT /o";,

: =Xt
Foc  wrama v , Ny = N, ¢



[image: image4.jpg]B 43

where NEFD = » 72 Uraniom  atrmo ’%amu»;,w'ﬁ
Nb = },} //2 ilrwwh« a«d‘% M LL—

* = Oéoxzo ¥
Nniher ey /P R N % = M = NED
/&/hi-, 7{:;—7“ Mo = Va%6?) e—/\c
At
* N o= NMoe - wiE>
A&
Ny =N (e =)
AE
~ N/’b = e __ /
NIFD
We sohe for T vatuo Moo
NP
- Tt A = 0673 . 2»50;()09/;
T 470 Oy
At = 40224907 -2
Ar
e - mnwxio”
- - > g —z A
£l M’" = NI ha My = T M.
C /V/*J ' Moy )
.= s s
g _&1 R T
M,,b M. :
ST R ;l d ’z
= M o GnkoB 2Ny g, = G0 20719 3
M. 23805

= O'/32-5n;5




